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@\SOLV'NG LINEAR AND QUADRATIC INEQUALITIES GRAPHICALLY

How do we read these inequalities (from left to right?) 5>2
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What does each symbol mean? > < = <
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How do you say this aloud? x > 4

What is the primary difference between an equation and an,inequality?
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A single-variable /IMM |~l\eabua1/l“l4ﬂ, is an inequality where one side of the

inequality is a IIM&( exg'e‘sﬁu\and(’{he othersideisa (‘0’\S+ﬂ,w+ 7 or
[inear expression . s \_{Q
Example 1
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b) Write your solution
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c) graph the solution on a number line
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Example 2

Solve the following inequality graphically

Rearrange lx—1<-x+5
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Graph :

b} Write your solution
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c) Graph the solution on a number line
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SOLVING QUADRATIC INEQUALITIES BY GRAPHING
Example 3

Use the quadratic function f(x) = x? — 2x — 3 and its graph to answer the following:
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b) Solve x* — 2x — 3 < 0 and graph on a number line (1d Al HI "
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c) Solve x? — 2x — 3 > 0 and graph on a number line \1‘ |
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b) Therefore, Solve x> — 2x — 3 < 0 when ~l 4 ,x < 5
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The parabola is ABOVE the x-axis when x...
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c) Therefore, Solve x? — 2x — 3 > 0 when % L - l M 90 7 3




Example 4 Solve the quadratic inequality

Rearrange —x% — 3x > x Graph:
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a) Write your solution

b) Graph the solution on a number line
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